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»<Equivalent Axle Load Factor (EALF) or Load
Equivalancy Factor (LEF) (M%&)
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(2 H¥F]  Huang’s “Pavement Analysis and
Design”, pp. 300 - 301)
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S k53 [ (Pavement Serviceability)
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LEF(Load Equivalency Factor)=(No. of 18-kip
axle to cause APSI)/(No. of x-kip axle to cause
the same APSI)

W=365*ADT*T%*D%*LD%*TF*((1+g)"n-1)/g

4.

Note: TF=-FFi[<~" (ESAL/TK)

B gL S K (BT EVE )

75cm (30 in.) @l 7 v ey

rERELY Fiﬁkfﬁl TE¢(Loss of Subgrade Support,
LS) 2 [ 3EEEL Y A

LA Tﬁﬁﬁp Y S5 ER(S, Modulus of
Rupture)



15cm*15cm*75cm JfLisE+ A2 (3-point load)

6. IfplEES JHITEAE(E,)

7. BVEl R R (Load Transfer Coefficient, J)

9. PEFHE(Cy)

10. Té 1% (Reliability) = % [ @ gt =~ 5
80~99.9% - [fﬁlj/i& f E'ﬁ 85~99.9% > ¥
o HE 50~80% - 7. 5,=0.35~0.45

1L S]p 1A= = B

IR, (Figure 4-2.9)
Figure 12.17(a) and 12.17(b)
(Huang’s Text Book pp. 635-636)



TABLE 6.7 EQUIVALENT AXLE LOAD FACTORS FOR RIGID PAVEMENTS WITH
D=9IN. AND p, = 2.5

Equivalent axle Equivalent axle
load factor load factor
Axle Axle
load Single Tandem Tridem load Single Tandem Tridem
{kips) axles axles axles {kips) axles axles axles
2 0.0002 (.00 00001 48 56.8 7.73 2.4%
4 0.002 0.0003 0.0003 S0 678 9.07 294
6 0.01 0.002 1001 52 0.6 344
.3 0.032 0.005 0.002 54 12.3 4.00
10 0.082 0.013 0.005 56 14.2 4.63
12 0.176 0.026 0.00% i+ 16.3 532
14 0.341 0.048 0.017 60 18.7 6.08
16 0.604 0.082 0.028 62 2.4 6.21
18 1.00 0.133 0.044 64 24 4 7.82
20 1.57 0.206 0.067 66 276 8.83
22 2.34 0.308 0.099 68 313 09
24 3.36 (h.dd4 0.141 )] 353 1£.1
26 4.67 0.622 0.195 72 ing 12.4
28 6.29 0.850 0.265 74 44.7 13.8
30 8.28 1.14 0.354 7 S 154
n 10.7 1.49 0.463 78 56.1 17.1
M 13.6 1.92 1. 596 2{$] 62.5 189
3o 17.1 2.43 0.757 82 6%.6 209
38 213 i 0.948 84 773 231
40 26.3 i 1.17 86 860 25.4
42 32 4.55 1.44 88 95.0 279
4 9.2 5.48 1.74 90 105.0 30.7
4H 473 6.53 2.9

Note. I kip = 445kN, 1in. = 25.4 mm.
Source. After AASHTO (1986).
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